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Guess Paper – 2012
Class – XII
Subject – Accountancy

ADMISSION OF A PARTNER

Q1. A and B are partners sharing profits in the ratio of 3:2. They admit C for 1/6th share. Compute the new ratio and sacrificing ratio.

Q2. X and Y are partners sharing profits in the ratio of 5:3. They admit Z for 1/4th share which he acquires from X and Y in the ratio 2 : 1. Compute the new ratio.

Q3. P and Q are partners sharing profits in the ratio of 2:1. They admit R as partner who acquires 1/4th share of P and 1/2 share of Q. compute the new ratio and sacrificing ratio.

Q4. E and F are partners sharing profits in the ratio of 3:2. They admit G who acquires 1/10th share from E and 1/5th from F. compute the new ratio and sacrificing ratio.

Q5.  A and B are equal partners. C is admitted for 1/4th share , which he takes equally from both. Compute the new ratio.

Q6. A  and B are partners sharing profits in the ratio of 5:4. They admit C for 1/9th share which he acquires from A. find the new ratio.

Q7. k and L are partners sharing profits in the ratio of 5:3. On 1st July 2010 they admit M into partnership. The new ratio is 2:4:1. Calculate the sacrificing / gaining ratio.

Q8. X and Y are partners sharing profits in the ratio of 2:1. Z is admitted into partnership for 1/4th share. X and Y will share the future profits in the ratio of 3:2. Calculate the new ratio and sacrificing ratio.

Q9.Sun and Moon are partners sharing profits in the ratio of 2:1. They admit Star into partnership as a partner. Sun gives 1/6th of his share while Moon gives 1/5th from his share. Calculate the new ratio and sacrificing ratio.

Q10. X and Y are partners sharing profits in the ratio of 4:3. They admit Z into partnership for 1/5th share who pays Rs. 14,000 in cash for goodwill. X and Y decided to share the future profits in the ratio of 3:2. Pass the necessary journal entries.

Q11. A and B are partners sharing profits in the ratio of 2:1. They admit C for 1/5th share which he acquires equally from A and B. C brings Rs. 30,000 as his share in goodwill and Rs. 50,000 as capital. Pass the necessary journal entries.

Q12. A and B are partners sharing profits in the ratio of 3 : 2.They admit C into partnership for 1/4th share. C brings in rs. 6,000 for capital and requisite amount of premium in cash. The goodwill of the firm is valued at rs. 2,400. pass the necessary journal entries if the partners withdrew their share of goodwill.
Q13. X,Y and Z are partners in a firm sharing profits in the ratio 1 : 2 : 3. They admit T as a new partner for 1/6th share. T acquired his share 1/24th from X, 1/24th from Y and 1/12th from Z. calculate the new ratio and the sacrificing ratio.
Q14. Vijay and Sanjay are partners in a firm sharing profits and losses in the ratio of 3:2. They decide to admit Ajay into partnership with 1/4 share in profits.Ajay brings in Rs. 30,000 for capital and the requisite amount of premium incash. The goodwill of the firm is valued at Rs. 20,000. The new profit sharing ratio is 2:1:1. Vijay and Sanjay withdraw their share of goodwill.Give necessary journal entries.
Q15. A and B are partners sharing profits and losses equally. They admit C into partnership and the new ratio is fixed as 4:3:2. C is unable to bring anything for goodwill but brings Rs 25,000 as capital. Goodwill of the firm is valued at Rs 18,000. Give the necessary journal entries assuming that the partners do not want goodwill to appear in the Balance Sheet.

Q16. Hem and Nem are partners in a firm sharing profits in the ratio of 3:2. Their capitals were Rs. 80,000 and Rs. 50,000 respectively. They admitted Sam on Jan. 1, 2007 as a new partner for 1/5 share in the future profits. Sam brought Rs. 60,000 as his capital. Calculate the value of goodwill of the firm and record necessary journal entries on Sam’s admission.
Q17. Rajinder and Surinder are partners in a firm sharing profits in the ratio of 4:1. On April 15, 2007 they admit Narender as a new partner. On that date there was a balance of Rs. 20,000 in general reserve and a debit balance of Rs. 10,000 in the profit and loss account of the firm. Pass necessary journal entries regarding

adjustment of a accumulate a profit or loss.

Q18. . Arti and Bharti are partners in a firm sharing profits in 3:2 ratio, They admitted Sarthi for 1/4 share in the profits of the firm. Sarthi brings Rs. 50,000 for his capital and Rs. 10,000 for his 1/4 share of goodwill. Goodwill already appears in the books of Arti and Bharti at Rs. 5,000. the new profit sharing ratio between

Arti, Bharti and Sarthi will be 2:1:1. Record the necessary journal entries in the books of the new firm?
Q19. Aditya and Balan are partners sharing profits and losses in 3:2 ratio. They admitted Christopher for 1/4 share in the profits. The new profit sharing ratio agreed was 2:1:1. Christopher brought Rs. 50,000 for his capital. His share of goodwill was agreed to at Rs. 15,000. Christopher could bring only Rs. 10,000 out of his share of goodwill. Record necessary journal entries in the books of the firm?
Q20. Amar and Samar were partners in a firm sharing profits and losses in 3:1 ratio. They admitted Kanwar for 1/4 share of profits. Kanwar could not bring his share of goodwill premium in cash. The Goodwill of the firm was valued at Rs. 80,000 on Kanwar’s admission. Record necessary journal entry for goodwill on Kanwar’s admission.
Q21. X and Y were partners in a firm sharing profits in 3 : 1 ratio. They admitted Z as a new partner for 1/4 share in the profits. Z was to bring Rs. 20,000 as his capital and the capitals of X and Y were to be adjusted on the basis of Z’s capital in the profit sharing ratio. The Balance Sheet of X and Y on 31.3.2006 was as follows :

Balance Sheet of X and Y on 31.3.2006

	         Liabilities
	  Amount
	        Assets
	   Amount

	 Creditors

 Bills Payable

 General Reserve

 Capitals:

             X             25,000

             Y             10,000
	  18,000

  10,000

  12,000

  35,000
	Cash

Debtors

Stock

Machinery

Building
	   5,000

  17,000

  12,000

  21,000

  20,000

	
	  75,000
	
	  75,000


Other terms of agreement on Z’s admission were as follows :

(i) Z will bring Rs. 6,000 for his share of goodwill.

(ii) Building will be valued at Rs. 25,000 and machinery at Rs. 19,000.

(iii) A provision at 5% on debtors will be created for bad debts.

(iv) Capital Accounts of X and Y were adjusted by opening Current Accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of X, Y and Z.        
Q22. Pravin, Pankaj and Paresh are partners sharing profits & losses in the ratio of 3:2:1. On 31-3-05 their Balance sheet was as follows:




      

	Liabilities
	Rs.
	Assets
	Rs.

	Capital accounts
	
	Machinery
	17200

	Pravin 
	20000
	Furniture
	8000

	Pankaj
	15000
	Stock
	10000

	Paresh
	10000
	Debtors            11000
	

	Creditors
	8000
	Less: BDR           500
	10500

	Profit & Loss a/c
	1200
	Cash
	8500

	
	
	
	

	
	54200
	
	54200


They agree to admit Pradip into partnership as from 1-4-05 on the following terms:

(1) Pradip is to be given 1/6th share, which he acquires 1/8th from Pravin and 1/24th from Paresh.

(2) Pradip is to bring Rs. 12000 by way of his capital and Rs. 8000 by way of his goodwill which is to be retained in the business.

(3) Machinery is to be valued at Rs. 19400 and stock is to be depreciated by 10%.

(4) Create a reserve for doubtful debts at 5% on debtors and reserve for discount on creditors at 2 ½ %.

(5) Taking Pradip’s capital as base, all other Partners’ capital accounts are to be kept in their new profit sharing ratio. The necessary adjustments are to be made in cash for that purpose.

Journalise the above transactions and prepare Balance sheet of the new firm.
	Liabilities
	Rs
	Assets
	Rs

	Creditors

Reserve fund

Workmen compensation fund

Capitals

R  150,000

S  200,000
	55000

28000

2000

350000
	goodwill

leasehold

patents

machinery

stock

debtors

cash at bank
	25000

100000

30000

150000

50000

40000

40000

	
	435000
	
	435000


Q23.R and S shared profits I the ratio 3:2. Following is the balance sheet as on 31st March 2007. On this date T was admitted a s a partner with one-fourth share in profits on following terms:-










1. T will bring in Rs 150,000 out of which Rs 50,000 will be his share of goodwill

2. Machinery to be depreciated by 5% and stock to be revalued at Rs 70500

3. There is a claim on account of worker’s injury Rs 5000

4. Capital of the new firm is fixed at Rs 400,000 and capitals of all the partners are to be new profit sharing ratio on the basis of new partner’s capital. Current account is to be opened for this purpose.

Prepare revaluation account, capital accounts and balance sheet of the new firm
Q24. The following was the Balance Sheet of Arun, Bablu and Chetan sharing profits and losses in the ratio of 6: 5: 3

	Liabilities
	Rs
	Assets
	RS

	Creditors

Bills Payable

Capital Accounts

Arun 19,000

Bablu 16,000

Chetan 8,000
	9,000

3,000

43,000

55,000
	Land and Buildings

Furniture

Stock

Debtors

Cash


	24,000

3,500

14,000

12,600

900

55,000



They agreed to take Deepak into partnership and give him a share of 1/8 on the following terms:

 a) that Deepak should bring in Rs. 4,200 as goodwill and Rs. 7,000 as his Capital; (b) that furniture be depreciated by 12%; (c) that stock be depreciated by 10% (d) that a Reserve of 5% be created for doubtful debts: (e) that the value of land and buildings having appreciated be brought up to Rs. 31,000 ;

(f) That after making the adjustments the capital accounts of the old partners (who continue to share in the same proportion as before) be adjusted on the basis of the proportion of Deepak’s Capital to his share in the business, i.e., actual cash to be paid off to, or brought in by the old partners as the case may be.

Prepare Cash Account, Profit and Loss Adjustment Account (Revaluation Account) and the Opening Balance Sheet of the new firm.
Q25. A and B are partners sharing profits and losses in the ratio 2:1. Their Balance sheet on 31.3.2006 was as follows:-

	Liabilities
	Amount

(Rs)
	Assets
	Amount

(Rs)

	Creditors
	20,000
	Stock
	20,000

	Bills Payable
	15,000
	Patents
	  2,000

	Reserve Fund
	12,000
	Debtors             40,000

Less. Provision   3,600
	36,400

	Capital:-    A
	40,000
	Building
	25,000

	                  B
	30,000
	Machinery
	33,600

	             
	1,17,000
	
	1,17,000


They admitted C into partnership for1/4th share on this date. C brings Proportionate capital after the following adjustments:-

C brings Rs.10,000 in cash as his share of goodwill, Provision for doubtful debts is to be reduced by Rs.2,400, There is an old typewriter valued at Rs.7,600. It does not appear in the books of the firm. It is now to be recorded and Patents are valueless.

Pass Journal entries and Prepare Capital accounts of the Partners.

Q26. Kinjal and Aishwarya are in partnership sharing profits and losses in the ratio of 3:2. Their Balance Sheet as on 31st December,2007, was as under: 

	Liabilities
	Rs.
	Assets
	Rs.

	Creditors 
	 15,000 
	Bank 
	  5,000

	General Reserve 
	 12,000
	Debtors                 20,000
	

	Capital Accounts:
	
	Less :Provision          800
	 19,200

	Kinjal
	 60,000
	Patents 
	 9,800

	Aishwarya
	 30,000
	Investments 
	   8,000

	Profit and Loss a/c
	10,000
	Fixed Assets 
	 72,000

	Salary Outstanding
	2,000
	Goodwill 
	 10,000

	
	   
	Advertisement Suspense A/c
	     5,000

	
	1,29,000
	
	1,29,000


They admit Natalia for 2/7th share on the following terms: 

(i) A provision of 5% is to be created on Debtors.

(ii) That out of the amount of insurance which was debited entirely to profit and loss account, Rs.1,200 be carried forward as unexpired insurance in the books.

(iii) Credit Purchase of goods Rs. 5,000 not included in Creditors. 

(iv) Present market value of Investments is Rs. 6,000. Kinjal takes over the Investments at this value. 

 (v) Natalia will bring Rs. 20,000 as her capital and Rs.15,000 as her share of goodwill.

(vi) Capital of old partners should be adjusted in the new profit sharing ratio taking Natalia’s Capital as the base. Prepare Revaluation a/c, Capital accounts and the new  Balance sheet. 
Q27.
	Y & O are partners sharing profits in the ratio 5:4. M was admitted for 1/4th share and pays Rs.27000 for his share of goodwill in cash. Half of this amount is to be withdrawn by Y & O. M also pays Rs.60000 as capital. It is agreed that the capital of all the partners will be in the profit sharing ratio. The balance sheet of Y&O was as follows:

	Liabilities
	Rs
	Assets 
	Rs

	Creditors 
	50000
	Sundry debtors          
	60000

	Reserve fund
	18000
	Cash 
	10000

	Bills payable
	30000
	Stock 
	40000

	Capitals   Y
	103000
	Building 
	60000

	               O
	70000
	Motor vehicles 
	30000

	P &/L a/c
	9000
	Machinery 
	40000

	Workmen compensation fund
	10000
	Investments 
	50000

	
	290000
	
	290000

	Adjustments :

1. Plant to be reduced by Rs.3000 and motor vehicles by Rs.24000.

2. Provision for bad debts to be made at RS.4500.

3. Liability on account of workmen’s compensation fund is Rs.4600.

Prepare Revaluation a/c, Capital a/c and the Balance sheet of the new firm.                         


	
	
	

	
	
	
	

	
	
	
	

	Q28. A,B and C are partners sharing profits and losses in the ratio2:3:5. On March 31st 2003 their Balance sheet was as follows:

Liabilities

Rs

Assets

Rs

Capitals

Cash

18,000

          A

36,000

Bills receivable

14,000

          B

44,000

Stock

44,000

         C

52,000

Debtors

42,000

Creditors

64,000

Machinery

94,000

Bills Payable

22,000

Goodwill

20,000

General Reserve

14,000

2,32,000

2,32,000

They decided to admit D into the Partnership on the following terms:

(a) Machinery is to be depreciated by 15%

(b) Stock is to be revalued at Rs.48,000.

(c) A,B and C have a joint life policy whose surrender value is Rs.12,000.

(d) Outstanding rent is Rs.1,900.

D is to bring Rs.6,000 as goodwill and sufficient capital for a 2/5th share in the total capital of the firm. Prepare Revaluation account, Capital account and the Balance sheet of the new firm.
Q29. M and N were partners in a firm sharing profits in the ratio of 3 : 1. Their Balance Sheet as on 31.3.2004 was as follows :

Liabilities                                       Amount                            Assets                               Amount

                                                            Rs.                                                                                Rs.

Creditors                                           28,000                             Cash                                    50,000

Bills Payable                                     40,000                             Debtors                               60,000

Outstanding Salary                              2,000                             Stock                                  40,000

Capital Accounts :                                                                     Plant                                1,00,000

         M 2,00,000                                                                       Land and Building           1,50,000

         N 1,30,000                             3,30,000

                                                        4,00,000                                                                      4,00,000

On the above date 'O' was admitted as partner for th share in profits on the following

terms :

(i) 'O' will bring Rs. 1,50,000 as his capital and Rs. 90,000 as his share of premium for goodwill for his share of profits.

(ii) Plant is to be appreciated to Rs. 1,30,000 and the value of land and building is to be appreciated by 5%.

(iii) Stock is overvalued by Rs. 6,000.

(iv) A provision for bad and doubtful debts is to be created at 5% on debtors.

(v) There were unrecorded creditors Rs. 4,500/-

Prepare Revaluation Account, Partners' Capital Accounts and the Balance Sheet of the new firm.

	


RETIREMENT OF PARTNER

Q1. A,B and C are partners sharing profits in the ratio of 3:2:1. Compute the new ratio and the gaining ratio if A retires. If B retires, If C retires.

Q2. P, Q and R are partners sharing profits in the ratio of  2:2:1. Q retires and his share is taken by P and R equally. Compute the New Ratio and the Gaining Ratio.

Q3. P, Q and R are partners sharing profits in the ratio of  2:2:1. Q retires and his share is taken by P and R equally. Compute the New Ratio and the Gaining Ratio.

Q4. Murli, Naveen and Omprakash are partners sharing profits in the ratio of 3/8, 1/2 and 1/8. Murli retires and surrenders 2/3rd of his share in favour of Naveen and the remaining share in favour of Omprakash. Calculate new profit sharing and the gaining ratio of the remaining partners.

Q5. A , B and C are partners sharing profits in the ratio of 4/9 : 1/3 : 2/9. B retires and surrenders 1/9th from share in favour of A and remaining in favour of C. Calculate the new ratio and Gaining ratio.  Ans : NR = 5 : 4 , GR = 1 : 2.

Q6. X, Y and Z are partners sharing profits in the ratio of 25 : 15 : 9. Y retires. It is decided that the profit sharing ratio between X and Z will be the same as existing between Y and Z. calculate the new ratio and the gaining ratio. Ans : NR = 5 : 3, GR = 3 : 5

Q7. X, Y and Z are partners sharing profits in the ratio of 4 : 3 : 1 respectively. Y retires, selling his share of profits to X and Z for Rs. 16,200, RS. 7,200 being paid by X and Rs. 9,000 being paid by Z. The profits of the firm after Y’s retirement are Rs. 21,000. Distribute the above profits between X and Z showing how you arrive at the same. Ans : X’s Share Rs. 14,000 and Z’s share Rs. 7,000.

Q8. Ravi, Mukesh, Naresh and Yogesh are partners in a firm sharing profits in the ratio of 2:2:1:1. On Mukesh’s retirement, the goodwill of the firm is valued at Rs. 90,000. Ravi, Naresh and Yogesh decided to share future profits equally. Pass the necessary journal entry for the treatment of goodwill without opening Goodwill Account.

Q9. Hanny, Pammy and Sunny are partners sharing profits in the ratio of 3 : 2 : 1. Goodwill is appearing in the books at a value of Rs. 60,000. Pammy retires and at the time of Pammy’s retirement, goodwill is valued at Rs. 84,000. Hanny and Sunny decided to share future profits in the ratio of 2:1. Record the necessary journal entries

Q10. X, Y and Z are partners sharing profits & losses in he ratio of 4/9 : 1/3 : 2/9 respectively. Y retires. The 

goodwill of the firm is valued at Rs.7,200. Goodwill already appears in the books of the firm at Rs.21,600. The 

profit for the first year after Y`s retirement was Rs.9,000. Give the necessary journal entries to adjust goodwill 

and to distribute profits.

Q11. A,B,C and D are partners in a firm sharing profits in the ratio of 2:1:2:1. On the retirement of C, the 

goodwill was valued at Rs.72,000. A.B and D decided to share future profits equally. Pass the necessary journal 

entry for the treatment of goodwill, without opening Goodwill Account.

Ans.
Debit B & D each by Rs.12,000 and credit C by Rs.24,000.

Q12. The following is the balance sheet of A, B and C sharing profits in the ratio of 2:2:1 as on 31-03-2009:

	Liabilities
	Amount
	Assets
	Amount

	Sundry Creditors
	20,000
	Goodwill
	10,000

	Bills Payable
	5,000
	Stock
	23,000

	Outstanding Exp.
	3,000
	Sundry Debtors          30,000
	

	Capitals :
	
	- Provision                    2,000
	28,000

	A
	45,000
	Delivery Van
	22,000

	B
	40,000
	Furniture
	15,000

	C 
	20,000
	Building
	20,000

	
	
	Cash at bank
	15,000

	Total
	1,33,000
	Total
	1,33,000


On the above date C retires on the following terms :

1. The stock is to be appreciated by Rs. 7,000

2. The provision for doubtful debts is to be maintained at 10%

3. The delivery Van is to be valued at Rs. 18,000

4. The Furniture is to be depreciated by 10% and Building is to be appreciated by 25%

5. There is an investment whose market value is Rs. 5,000 is to be taken over by C and balance is to be transferred to his Loan A/c.

6. A and B decided to share the future profits in the ratio 3:2.

7. The goodwill of the firm is valued at Rs. 30,000

8. Bills payable of Rs. 1,000 are no more payable.

Pass the necessary journal entries and prepare the necessary ledger accounts.

Q13. On 31st March, 2000 the Balance Sheet of P, Q and R who were sharing profits and losses in proportion to their capitals stood as follows:-

	Liabilities
	Amount
	Assets
	Amount

	Bills Payable

	12,000
	Land and Buildings      
	55,000

	Creditors

	12,000
	Machinery
	25,000

	Capitals :
	
	Debtors         10,000          Less: Provision                   200   
	9,800

	P
	42,000
	Stock

	10000

	Q
	28,000
	Cash at Bank

	8,200

	R
	14,000
	
	

	Total
	1,08,000
	Total
	1,0,8000


Q retires and the following re-adjustments of the assets and liabilities have been agreed upon before the ascertainment of the amount payable to Q.

(a)
That out of the amount of insurance which was debited entirely to Profit and Loss Account Rs. 1,400 be carried forward as an unexpired insurance.


(b)
that the land and building be appreciated by 10%.

(c)
That the provision for doubtful debts be brought up to 5% on debtors.


(d)
That machinery be depreciated by 6%.

(e)
That a provision of Rs. 1,500 be made in respect of an outstanding bill for repairs.

(f)
That the goodwill of the entire firm be fixed at Rs. 18,000 and Q’s share of the same be adjusted into the accounts of P and R who are going to share future profits in the proportion of three fourth and one-fourth, respectively (no goodwill account being raised).

 (g)
That Q be paid Rs. 5,000 in cash and the balance be transferred to his Loan Account. Prepare necessary accounts and the Balance Sheet of the firm of P and R.
Q14. C, D and E were partners sharing profits in the ratio of ½, 1/3 and 1/6 respectively. The balance sheet of C, D and E as on 31st December, 1995 are as follows:

	Liabilities
	 
	Rs.
	Assets
	 
	Rs.

	Sundry creditors
	
	19,000.00
	Cash at bank
	
	2,500.00

	Bills payable
	
	5,000.00
	Debtors
	16,000.00
	

	Reserve fund
	
	12,000.00
	Less: Reserve for doubtful debts
	500.00
	15,500.00

	Capitals A/cs:
	
	
	Stock
	
	25,000.00

	C
	40,000.00
	
	Motor vans
	
	8,000.00

	D
	30,000.00
	
	Plant and Machinery
	
	35,000.00

	E
	25,000.00
	95,000.00
	Factory building
	
	45,000.00

	 
	
	
	
	
	

	Total
	
	131,000.00
	Total
	
	131,000.00


D retires on that date subject to the following adjustment:

1. Goodwill of the firm to be valued at Rs.18,000 and is to be written off later on.

2. Plant to be depreciated by 10% and motor vans by 15%.

3. Stock to be appreciated by 20% and building by 10%.

4. The reserve for doubtful debts to be increased by Rs.1950.

Prepare Revaluation Account, Partner’s Capital Accounts and the balance sheet of the firm after C’s retirement.
Q15. . A, B and C are partners sharing profits in the ratio of 2 : 2 :1. Their Balance sheet as on 31-12-2009 is as under :

	Liabilities
	Amount
	Assets
	Amount

	Sundry creditors
	10,000
	Cash in hand
	18,000

	Bills Payable
	5,000
	Stock
	15,000

	Employees Provident Fund
	4,000
	Sundry Debtors             20,000
	

	General Reserve
	15,000
	- Provision                       1,000
	19,000

	Workmen’s Compensation Fund 
	5,000
	Building
	22,000

	Investment Fluctuation Fund
	3,000
	Plant
	16,000

	Capitals
	
	Goodwill
	10,000

	A
	30,000
	Investment 
	10,000

	B
	28,000
	Advertisement Suspense
	6,000

	C
	20,000
	Profit & Loss
	4,000

	
	1,20,000
	
	1,20,000


C retires on 1-1-2010 on the following terms :

1.
C share shall be acquired by A and B equally.

2.
The Goodwill of the firm is valued at Rs. 30,000

3.
The stock is undervalued by Rs. 2,000

4.
All the debtors are good.

5.
Building is valued at Rs. 21,000 and Plant is to be depreciated by 10%

6.
The market value of Investment is Rs. 5,000

7.
The liability against workers’ Liability is Rs. 3,000

8.
The Creditors of Rs 3,000 are no more payable.

9.
The liability against Employees provident fund is Rs. 5,000.

10.
C is to be paid Rs, 5,000 immediately and balance is to be transferred to his loan a/c.

You are required to prepare the necessary ledgers and the new balance sheet.
Q16. . Om, Jai and Jagdish are partners sharing profit in the ratio of 3 : 2 : l. Their balance sheet as 

      on December 31st 2006 is as under :





Balance sheet as on December 31st, 2006

Liabilities




Amount

Assets



Amount






  (Rs.)







   (Rs.)

Creditors




80,000

Building



1,80,000

Bills Payable



26,000

Plant




1,40,000

General reserve


24,000

Motor Car



   40,000

Capital :






Stock




1,00,000

Om



         1,60,000

Debtors

63,000

Jai



         1,20,000

Less Provision               3,000               60,000.

Jagdish


                     1,20,000

Cash at Bank                                          10,000





         5,30,000





            5,30,000
Jai retires on that date on the following terms:

(a) The Goodwill of the firm is valued at Rs.60,000.

(b) Stock and Building to be appreciated by 10%.

(c) Plant is depreciated by 10%

(d) Provision for Bad debts is increased upto Rs.5,000.

(e) Jai’s share of goodwill adjusted through remaining partners capital account,

The amount due to Jai is paid out of the fund brought in by Om and Jagdish for that purpose in their new profit sharing ratio. Jai is paid full amount.

Prepare Revaluation Account and Partner’s Capital account.

Ans : Profit on revaluation Rs. 12,000, Amount Paid To Jai Rs. 1,52,000, Capitals of Om & Jai Rs. 2,77,000 and Rs. 1,59,000. Balance Sheet Total Rs.
Q17. A and B are partners sharing profits in the ratio of A 3/6, B 2/6 and transfer to reserve 1/6. Their Balance Sheet on 31st December 2007 was as follows:

	Liabilities
	Amount
	Assets
	Amount

	Employee’s Provident Fund
	18,000
	Goodwill
	15,000

	Reserve Fund
	12,000
	Plant
	90,000

	Sundry Creditors
	10,000
	Patents
	4,400

	Profit and Loss A/c
	24,000
	Stock
	30,000

	Capitals :

A                                     80,000

B                                     40,000
	1,20,000
	Investment


	20,000

	
	
	Debtors :                           20,000

Less:- Provision                     400
	19,600

	
	
	Cash
	5,000

	
	1,84,000
	
	1,84,000


B retires on 1st Jan 2008.The terms were:-

(i) Goodwill is to be valued at 50,000.

(ii) Value of patents is to be increased by Rs. 3,000 but plant was found over-valued by Rs 15,000.

(iii) Provision for doubtful debts should be 5% on Debtors and prevision for discount should also be made on Debtors & creation at 3%.

(iv) Out of insurance which was entirely debited to profit and loss Account Rs 870 be carried forward as unexpired insurance.

(v) Investments were revalue at Rs 16,000. Half of these investments were taken over by B.

(vi) There is a claim for workmen’s compensation to the extent of Rs 5000
B was paid of in full. A borrowed the necessary money from the bank on the security of plant and stock to pay off B. Prepare Revaluation A/C .capital A/c of B/S of A.
Q18. The Balance Sheet of A, B and C who were sharing profits in proportion to their capitals stood as follows on 31 December 1984:

	Liabilities
	Amount
	Assets
	Amount

	Sundry Creditors
	6,900
	Cash at bank
	5,500

	Investment Fluctuation fund
	7,500
	Sundry Debtors                     5,000
	

	Capital Accounts :
	
	    Less : Provision                    100
	4,900

	A
	18,000
	Stock 
	8,000

	B
	13,500
	Investments
	11,500

	C
	9,000
	Land and Building
	25,000

	
	54,900
	
	54,900


B retired on the above date and the following was agreed upon :

1. That stock be depreciated by 6%

2. That the provision for Doubtful Debts be brought up to 5% on Debtors.

3. That Land & Building be appreciated by 20%.

4. That a provision of Rs. 770 be made in respect of outstanding legal charges.

5. Investment be brought down to Rs. 8,500.

6. That the goodwill of the entire firm be fixed at Rs. 10,800 and B’s  share of goodwill be adjusted into the accounts of A and C who are going to share the future profits in the ratio of 5 : 3.

7. That the entire capital of the new firm be fixed at Rs. 28,000. Actual cash to be brought in or paid off, as the case may be.

Pass the necessary journal entries and show the new Balance sheet.

Ans : Profit on Revaluation Rs. 3,600, B’s Loan Rs. 19,800, Cash Paid tp A Rs. 2,150 and Introduced By C Rs. 1,350, Balance Sheet Total Rs. 55,470.
Q19. The following is the balance sheet of A, B & C who share profits and losses in the ratio of 

        2:2:1 as on 31st December, 2009 :

	Liabilities
	Amount
	Assets
	Amount

	Accounts Receivable
	30,000
	Land & Building
	70,000

	Bank Loan 

	85,000
	Plant & Machinery
	30,000

	General Reserve
	15,000
	Book Debts                         22,000
	

	Capital Accounts: 
	
	    Less : Provision                2,000
	20,000

	A
	40,000
	Inventories
	22,000

	B
	30,000
	Cash
	78,000

	C
	20,000
	
	

	
	2,20,000
	
	2,20,000


B retired from the firm from 1st January 2010 & his share was taken over equally by A & C.

(a) Land and building was revalued at Rs 90,000 & there was a claim of Rs 5,000 on account of Compensation payable to workers.

(b) Of the total amount payable to B, Rs 16,000 to be treated as his loan which was repayable in 4 equal yearly installments together with interest @ 10% p.a.

(c) The capital of newly constituted firm was fixed at Rs 1, 50,000 which was to be maintained by A & C in their profit sharing ratio. 

Prepare Revaluation Account, Capital Accounts, Revised Balance Sheet.

Q20. On 31st March, 2008, the balance sheet of A, B and C who were sharing profits and losses in proportion to their capitals stood as follows:

	Liabilties
	 
	Rs.
	Assets
	 
	Rs.

	Creditors
	
	10,800.00
	Cash at bank 
	
	8,000.00

	Capital A/cs
	
	
	Debtors
	10,000.00
	

	A
	45,000.00
	
	Less: Provision
	200.00
	9,800.00

	B
	30,000.00
	
	Stock
	
	9,000.00

	C
	15,000.00
	90,000.00
	Machinery
	
	24,000.00

	 
	
	
	Land and building
	
	50,000.00

	 
	
	
	
	
	

	Total
	
	100,800.00
	Total
	
	100,800.00


B retires and the following readjustments of assets and liabilities have been agreed upon before as certainment of the amount payable to B:

i) That out of the amount of insurance which was debited to profit and loss account, Rs.1,000 be carried forward for unexpired insurance.

ii) That the land and building be appreciated by 10%.

iii) That the reserves for doubtful debts are brought up to 5% on debtors.

iv) That machinery be depreciated by 5%.

v) That a provision of Rs.1500 be made in respect of an outstanding bill for repairs.

vi) That the goodwill of the entire firm be fixed at Rs.18,000 and B’s share of the same be adjusted into the accounts of A and C who are going to share future profits in the proportion of 3/4th and 1/4th respectively.

vii) That the total capital of the firm as newly constituted be fixed at Rs.60,000 between A and C in the proportion of 3/4th and 1/4th after passing entries in their accounts for adjustments, i.e., actual cash to be paid off or to be brought in by continuing partners as the case may be.

viii) That B be paid Rs.5000 in cash and the balance to transferred to his loan account.

Prepare the capital accounts of the partners and the balance sheet of the firm of A and C.
Q21. A, B and C are partners sharing profits in the ratio of 3 : 1 : 1. On 1-1-2010, their Balance Sheet looked as under:

Balance Sheet As on 1-1-2010

	Liabilities
	Amount 
	Assets
	Amount

	Sundry Creditors
	12,000
	Cash 
	19,000

	Employees Provident Fund
	5,000
	Stock
	18,000

	Contingency Reserve
	10,000
	Land & Building
	29,000

	General Reserve
	18,000
	Plant & Machinery
	18,000

	Workmen’s Compensation Reserve
	10,000
	Debtors                       25,000              -Provision                         2,000
	23,000

	Capital’s
	
	Goodwill
	12,000

	A
	35,000
	Advertisement Suspense A/c
	6,000

	B
	25,000
	Investments ( Market Value Rs. 12,000)
	10,000

	C
	20,000
	
	

	
	1,35,000
	
	1,35,000


On the above date B retired on the following the following terms:

a. The land & Building is to be brought up to Rs. 35,000 and Plant & Machinery is to be  brought down by Rs. 3,000.

b. The stock is overvalued by Rs. 2,000.

c. The provision for doubtful debts is to be maintained at 20%.

d. Insurance premium of Rs. 1,000 debited to profit & loss a/c relates to next period.

e. The liability against employees provident fund is Rs.7,000. And liability against workmen’s compensation is Rs.8,000.

f. There was a salary of Rs. 3,000 which was outstanding and is to be recorded now.

g. A and C decided to share the future profits in the ratio of 3:2 and the value of goodwill of the firm is fixed at Rs. 30,000.

h.  The total capital of the new firm is fixed at Rs.1,00,000 and any surplus or deficiency is to be transferred to current accounts.

i. Rs.20,000 shall be transferred to B’s loan a/c and balance shall be paid.

You are required to prepare the necessary ledger accounts and the revised balance sheet of the new firm.
Q22. The following is the balance sheet of P,Q and R sharing profits in the ratio of 3:2:1. Their Balance Sheet as on 31st December, 2009 was as under :
	Liabilities
	Amount 
	Assets
	Amount

	Capitals :
	
	Land & Building
	38,000

	P
	30,000
	Furniture
	10,000

	Q
	40,000
	Goodwill
	12,000

	R
	25,000
	Investments
	20,000

	Sundry Creditors
	20,000
	Stock
	18,000

	Bills Payable
	15,000
	Debtors                           30,000                                                              

Less : Provision                2,000
	28,000

	General reserve
	18,000
	Profit & Loss A/c
	12,000

	Investment Fluctuation Reserve
	10,000
	Patents 
	6,000

	
	
	Cash in hand 
	14,000

	
	1,58,000
	
	1,58,000


R retired on the above date on the following terms :

1. The share of R was acquired by P and Q equally.

2. The goodwill of the firm was valued at Rs. 60,000.

3. Land & Building was valued at Rs. 44,000 and Furniture is to be depreciated by 15%.

4. The market value of Investments is Rs. 16,000.

5. The Debtors are all good.

6. There is a liability against workmen’s compensation of Rs. 9,000.

7.  The total capital of the new firm is Rs. 1,20,000 and it should be in profit sharing ratio and the adjustment is to be made through current accounts.

You are required to prepare the necessary ledger accounts and the revised balance sheet of the new firm.
Q23. The following is the balance sheet of A, B and C as on 31-12-2009. They share profits in the ratio 2 : 2 :1.

	Liabilities
	Amount
	Assets
	Amount

	Creditors
	15,000
	Cash
	7,500

	General Reserve
	11,000
	Debtors                          5,500                      

Less : Provision                600
	4,900

	Capitals :
	
	Land & Building
	42,000

	A
	15,000
	Patents
	7,600

	B 
	10,000
	
	

	C
	11,000
	
	

	
	62,000
	
	62,000


C decided to retire and A and B decided to share future profits in the ratio 3 : 2 on the following terms :

1. Out of the insurance which was debited to profit & loss account is to be carried forward as prepaid Rs. 500.

2. Outstanding Salary Rs. 1,000.

3. Provision of Rs. 3,000 is to made for outstanding repair bill.

4. Provision of 5% is to be made on creditors.

5. Patents are value less.

6. General Reserve of Rs. 3,500 is to be transferred to provision for legal charges.

7. Land & Building is to be appreciated by Rs. 16,500.

8. Reserve for bad debts to be brought up by 6%.

9. Goodwill of the firm is valued at Rs. 16,500.

10. C is to be paid Rs. 10,000 and balance is to be transferred to his loan account.

11. A and B decided that the total capital of the new firm should be in profit sharing ratio and any cash is to be brought in or paid.

You are required to pay the necessary ledger accounts and new balance sheet.

Q24. The Balance Sheet of A, B and C who were sharing the profits in proportion to their capitals as on 31st March, 2000 as under : 

Liabilities



Rs.
Assets



      Rs.


Bills payable


       1,000
Bank Balance


  2,750

Sundry Creditors

       2,450
Debtors
         2,500



Capital A/cs :


 

Less : Provision      
  50        2,450



A


       6,000
Stock



  4,000




B


       4,500
Plant & Machinery

  4,250



C


       3,000
Factory Building

12,500


Reserve

  
       9,000






    ----------



          ----------





     25,950




25,950


B retired on that date and the following adjustments were made :


(a)
Stock was depreciated by 6%.

(b) Factory building was appreciated by 20%.

(c) Provision for doubtful debts was created up to 5%.

(d) Provision for legal charges to be made at Rs. 385.

(e) The goodwill of the entire firm was fixed at Rs. 5,400 and B’s share to be adjusted into the accounts of A and C.

(f) The capital of the new firm be fixed at Rs. 14,400 in the profit & loss sharing ratio. 

Prepare Profit and Loss Adjustment Account, Capital Accounts and Balance Sheet of A and C transferring B’s Capital account to his Loan Account.
Q25. A, B and C are partners in the ratio of 5 : 3 : 2. Their Balance Sheet as at 31st March, 2000 was as follows :


Liabilities



Rs.
Assets



      Rs.


Trade Creditors

     37,000
Goodwill


18,000


General Reserve

     12,000
Land and Buildings

16,000


Capitals :




Machinery

 
  9,000



A


     10,000
Stock



14,500



B


     12,000
Sundry Debtors

16,000



C


       4,000
Bank



  1,500







  -----------



         -----------






     75,000




75,000

It was agreed that A shall retire on 31st March, 2000 as per the following conditions :

(a)
Goodwill of the firm is to be valued at three year’s purchase of the annual profits of the last four  years.  The  profits  for  the  preceding  years were Rs. 30,000; Rs. 8,000; Rs. 12,000; Rs. 14,000.

(b) Stock is agreed to be valued at Rs. 13,500.

(c) Land  and  buildings  are  to  be  revalued at Rs, 24,000 and machinery at Rs. 6,400.

(d) Provision for doubtful debts at 5% on Sundry debtors is to be created.

(e) An unclaimed  liability of Rs. 400 is to be written off.

(f) A to be paid the amount due to him by raising a loan of Rs. 20,000 on the security (mortgage) of the land and buildings and the balance by exchange (without interest) payable at the expiry of 12 months. 

(g) B and C to bring in or take out cash so as to maintain the capital of the new firm at Rs. 40,000 in their profit sharing ratio.

Show the calculation of goodwill, and record the above adjustments and prepare the Balance Sheet of B and C on 31st March, 2000 after the retirement of A.

Q26. The Balance sheet of  Arthur, Baldwin  and  Curtis who were sharing profits in proportion to their capitals stood as follows on 31st December, 1993 :


Liabilities



Rs.
Assets



      Rs.


Sundry Creditors

        6,900
Cash at bank

 
  5,500


Capital Accounts :



Sundry debtors
5,000





Arthur

20,000


Less : Reserve

   100     4,900



Baldwin
15,000


Stock



  8,000



Curtis

10,000
       45,000
Plant and Machinery

  8,500








Factory land & building
25,000






     ----------




---------






       51,900




51,900

Mr. Baldwin retires and the following readjustments of the assets and liabilities have been agreed  upon  before  the ascertainment of the amount payable by the firm to Mr. Baldwin.:

(a) That the stock be deprecated by 6 per cent.

(b) That the reserve for doubtful debts be brought upto 5% on debtors.

(c) That the factory land and building be appreciated by 20%.

(d) That a provision of Rs. 770 be made in respect of outstanding legal charges.

(e) That  the  goodwill  of   the  entire  firm  be   fixed   at   Rs. 10,800   and  Mr. Baldwin’s share of the same be adjusted into the accounts of Arthur and Curtis who are going to share in future in the proportion of five eights and three eights respectively (No Goodwill account is to be raised.)

(f) That  the  entire  capital of  the  firm  as  newly  constituted  be  fixed  at Rs. 28,000 between Arthur and Curtis in the proportion of five-eights and three eights after passing  entries in their accounts for goodwill (i.e. actual cash to be paid off to or to be brought in by the continuing partners as the case may be.) 

Pass the necessary journal entries to give effect to the above arrangements and prepare the balance sheet of Arthur and Curtis transferring Baldwin’s share of capital and goodwill to be separate loan account in his name.


Ans=
Amount payable to B : Rs. 19,800; Balance sheet total Rs. 55,470;  

Profit on revaluation Rs. 3,600.
Q27. A, B and C were partners sharing profits and losses in the ratio of 5 : 3 : 2. They had taken out a joint life policy for a sum assured of 1,00,000. On 31st December, 20X2 its surrender value was Rs. 20,000. On that date, the Balance Sheet of the firm stood as under :


Liabilities



Rs.
Assets



      Rs.


Sundry Creditors

      26,500
Bank



10,000



Employee’s Provident Fund
        3,500
Debtors


45,000


Contingency Reserve 

      15,000
Stock



55,000



A’s Capital


   1,00,000
Fixed Assets
 
         1,25,000


B’s Capital


      50,000



C’s Capital


      40,000







  ------------



      ------------






   2,35,000



        2,35,000


B retires on 31st Dec., 20X2. For the purpose, the following adjustments are agreed upon :-

(a) That goodwill be valued at Rs. 75,000;

(b) That fixed assets be appreciated by 20%;

(c) That stock be reduced to Rs. 50,000.

(d) That B be paid through cash brought in by A and C in such a way as to make their capitals proportionate to their new profit sharing ratio which is to be A-3/5, and C- 2/5 ;

(e)
That  Joint Life Policy are to appear in the Balance Sheet.


Required : Give the Partner’s Capital A/cs & the Balance Sheet of A and C.

Q28. A, B, and C are partners sharing profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at 31st December, 1996 was as follows :


Liabilities



Rs.
Assets



      Rs.


Sundry Creditors

     29,000
Goodwill


24,000


Provision for doubtful debts
       5,000
Debtors


80,000


Capitals :




Investments


30,000



A
        1,40,000


Land & Buildings       
         1,42,000



B
           90,000


Machinery


50,000



C
           76,000    3,06,000
Patents



  4,000








Cash at Bank


10,000






------------



       ------------






  3,40,000



         3,40,000


C retired on the above date as per the following conditions :

(i)
Goodwill of the firm is to be valued at three years purchase of the average profits  of  the  last  five  years   which   were   Rs. 20,000;  Rs. 12,000; Rs. 30,000; Rs. 6,000 (loss) and Rs. 34,000 resp. Goodwill is to be raised to full value. Partners agreed to continue with the Goodwill Account.

(ii) Machinery is to be reduced to Rs. 40,000 and patents are valueless.

(iii) There is no need of any provision for doubtful debts.

(iv) An unclaimed liability of Rs. 2,000 is to be written off.

(v) Out of the total insurance premium paid, Rs. 10,000 be treated as pre-paid.

(vi) Investments are revalued at Rs. 16,000 and these are taken by C at this value.

Entire sum payable to C is to be brought in by A and B in such a way so as to make their capitals proportionate to their new profit sharing ratio which is 2 : 1.

Prepare Revaluation Account, Capital Accounts and the opening Balance Sheet of A and B.

Ans =
Loss on Revaluation Rs. 20,000; Amount paid to C Rs. 62,000; Final Balances of capital Accounts A Rs. 2,00,000 and B Rs. 1,00,000; Cash brought in by A Rs. 55,000 and by B Rs. 7,000; B/S Total Rs. 3,27,000.
Q29. X, Y and Z are partners sharing profits and losses in the ratio of 3 : 2 : 1. Their Balance Sheet as at 31st March, 1997 was as follows : 

Liabilities



Rs.
Assets


 
     Rs.

Sundry Creditors

     75,000
Buildings

        2,00,000


Employees Provident Fund
       9,000
Machinery

           80,000


Capitals :




Sundry Debtors  1,00,000





X
      1,40,000


Less : Prov.           10,000      90,000



Y
      1,40,000


Stock


           40,000



Z
         80,000      3,60,000
Cast at Bank

           22,000









Profit & Loss A/c
           12,000






 ------------



        -----------






  4,44,000



        4,44,000


==========================================================================


X retired on that date and it was decided to make the following adjustments :

(i)
Stock to be depreciated by 40% and sale of old papers and materials realised Rs. 1,000.

(ii) Provision for doubtful debts to be increased to 17% of Sundry Debtors.

(iii) Machinery be depreciated by 40% and buildings be appreciated by 20%.

(iv) Partners paid Rs. 10,000 to the family of an employee who died of an heart-attach.

(v) Partners had a Joint Life Policy of Rs. 60,000. The surrender value of this policy was Rs. 24,000. Partners decided to show the Joint Life Policy in their new balance Sheet.

(vi) Goodwill is valued  at Rs. 30,000.

(vii) Y and Z decided to share future profits in the ratio of 3 : 3 and not to show goodwill in the books.

(viii) Y and Z would introduce sufficient capital to pay off X and have thereafter a sum of Rs. 25,000 as Working Capital in a manner that their Capitals would be in proportion of their new profit sharing ratio.

Pass journal entries and prepare the Balance Sheet of the new firm.
DEATH OF A PARTNER

Q1. A, B and C are Partners sharing profits and losses in the ratio of 2 : 2: 1. C died on 31st March 2000. Profits and sales of 1999 were Rs. 1,00,000 and Rs. 10,00,000 resp. Sales during January and March 2000 were Rs. 1,50,000. You are required to calculate the share of profit of C upto the date of death.  Ans =
Rs. 3,000.
Q2.A, B and C are equal partners in a firm whose books are closed on 31st December every year. A died on 31st March, 1993 and according to the agreement, his share of profits upto the date of death is to be calculated on the basis of the average profits of the last three years. Net profits of the last three years were Rs. 8,000; Rs. 11,000; and Rs. 17,000. Calculate A’s share of profits and pass the necessary journal entry. 
Ans =
Rs. 1,000.
Q3.Ram, Monohar and Joshi were partners in a  firm. Joshi died on 28th February 1994. His share of profit from the closure of the last accounting year till the date of death was to be calculated on the basis of the average o three completed years of profits before  death. Profits for 1991, 1992 and 1993 were Rs. 7,000, Rs. 8,000 and Rs. 9,000 resp. Calculate Joshi’s share of profit till his death. Ans =Joshi’s share of profit Rs. 444.44.

Q4.A, B and C are partners sharing profits in the ratio of 3 : 2 : 1. They close their books of accounts on December 31, every year. B dies. Calculate B’s profit assuming following cases.

(a) Deceased partner’s share of profit is to be calculated on the basis of last year’s profit, which amounts to Rs. 48,000. B dies on 31st March.

(b) Deceased partner’s share of profit is to be calculated on the basis of  average of last year’s profit, which amount to Rs. 30,000, Rs. 25,000 and Rs. 17,000. Suppose B dies on May 31.


Ans =
(a) Rs. 4,000 (b) Rs. 3,333. 

Q5.A, B and C are sharing profits in the ratio of 3:2:1. C dies on 31st March, 1997.  Accounts are closed on 31st Dec. every year. Sales for the year 1996 amounted to Rs. 6,00,000.  Sales   for   Ist  January, 1997  to  31st March, 1997 amounted to Rs. 2,40,000. The profit for the year 1996 amounted to Rs. 30,000. Calculate the deceased partner’s share in the current year’s profit. Ans =
Rs. 2,000.
Q6. A, B & C were partners sharing profits and losses in the ratio of  3 : 2 : 1 respectively. ‘A’ died on 31st March, 1989. Calculate his share of profits during the accounting year 1989 in each of the following alternative cases : 

(i)
If the partnership deed provided that the share of  profit till the date of death be estimated at the sum calculated on the average of the last three completed year’s profits. The books showed the profits for the calendar years as under : 1984 - Rs. 5,000; 1985 - Rs. 5,000; 1986 - Rs. 8,000; 1987 – Rs. 7,600 and 1988 – Rs. 9,000.

(ii) If the partnership deed provided that the share of profit till the date of death be estimated at the sum calculated on the sales till the date of death by applying the ratio of net profit to sales for the last accounting year. Sales from 1.1.89 to 31.3.89 amounted to Rs. 30,000. Sales and net profit for the year 1988 amounted to Rs. 3,60,000 and Rs. 54,000 respectively.

Ans=
(I) Rs. 1,025 (ii) Rs. 2,250.
Q7. A, B and C were partners sharing profits in the ratio of 3:2:1. The firm had insured the partners lives separately, A for Rs. 60,000; B for Rs. 30,000; and C for Rs. 24,000. Premiums paid have been charged to P&L a/c, which is prepared annually on 31st Dec.

B died on 31st March 1994. On this date surrender value of the policy are 1/4 of the amount of policy. Under the partnership deed, the executors of the deceased partners are entitled to;

i) His capital as per balance sheet.

ii) Interest on capital @ 10% p.a. upto the date of death

iii) His share of profit to the date of death, calculated on the basis of last year’s profit.

iv) His share of insurance money.

B’s capital on 31st Dec. 1993 was Rs. 40,000 and in 1994 he has withdrawn Rs. 1,200 per month at the beginning of each month. Interest on drawings is to be charged @ 10% p.a. last year’s profit was Rs. 24,000.


Prepare B’s Executor’s a/c.

Ans =
Rs.  56,340.
Q8. R,S,T were partners sharing profits and losses in the ratio of 5 : 3 : 2 resp. On 31st December 1990 their balance sheet stood as under.







Rs.




    Rs.


Sundry creditors

      55,000
Goodwill

            25,000



Reserve fund


      30,000
Leasehold

         1,00,000



Capital accounts



Patents



30,000



R
    1,50,000


Machinery

         1,50,000



S
    1,25,000


Stock



50,000



T
       75,000
   3,50,000
Debtors


40,000








Cash at bank


40,000






  ------------



        ------------






   4,35,000



         4,35,000



T died on 1st May 1991. It was agreed that

(a) Goodwill be valued at 2 ½ years purchase of last four years profits which were 1987 – Rs. 65,000; 1988 – Rs. 60,000; 1989 – Rs. 80,000 and 1990 Rs. 75,000. 

(b) Machinery be valued at Rs. 1,40,000; Patents be valued at Rs. 40,000; Leasehold be valued at Rs. 1,25,000 on 1st May 1991.

(c) For the purpose of calculating T’s share in the profits of 1991, the profits in 1991 should be taken to have accrued on the same scale as in 1990.

(d) A sum of Rs. 21,000 to be paid immediately to the executors of T  and the balance to be paid in four equal half yearly installments together with interest at 10% per annum.

Pass the necessary journal entries to record the above transactions and T’s executors account for 1991.


Ans =
Balance in executor’s account Rs. 1,00,000.
Q9. A, B and C are in partnership sharing profits equally. C died on 31st March, 2000. The Balance Sheet of the firm on 31st December, 1999 stood as follows :


Liabilities



Rs.
Assets



     Rs.


Creditors


      32,250
Cash


 
  2,500


Contingency Reserve

      10,000
Bank



10,000



Investment Fluctuation Fund
        3,000
Debtors 
         25,000




Capitals :




Less : Provision



A


      75,000
 for doubtful debts     2,000     23,000



B


      50,000
Stock



25,000



C


      50,000
Investments (at cost)

12,500








Land and building
         1,00,000








Goodwill 


47,250






   -----------



       ------------






   2,20,250



         2,20,250



In order to arrive at the balance due to C it was mutually agreed that –

(i)
Land & buildings be valued at Rs. 1,25,000.

(ii) Investments fluctuation fund be brought upto Rs. 1,250.

(iii) Debtors were all good, no provision is required.

(iv) Stocks are valued at Rs. 23,500.

(v) Goodwill be valued at one year’s purchase of the average profit of the past five years.

(vi) C’s share of profit to the date of death be calculated on the basis of average profit of the preceding three years.

The profits of the last preceding five years were as under : 1995- Rs. 28,750; 1996- Rs. 35,000; 1997 – Rs. 22,500; 1998 – Rs. 20,000; 1999 – Rs. 25,000. 

Pass journal entries. Give Partner’s Capital Accounts and revised Balance Sheet. Show your working.
Q10. A, B and C are partners sharing profits and losses in the proportion of 3 : 2 : 1  and their Balance Sheet on 31st December, 1999 stood as under :


Liabilities



Rs.
Assets



      Rs.


Bills payable


       7,560
Cash in hand

    
     250


Creditors


     12,300
Bank



     960


Reserve


       3,000
Debtors


  7,450



Capitals :




Bills receivable
 
  3,300




A

10,000


Stock



12,470



B

  6,000


Investments


10,430




C

  4,000
    20,000
Buildings


  8,000







  ----------



          ----------






    42,860




42,860

B died on 28th February 2000 and according to the deed of the said partnership, his executors are entitled to be paid as under : 

(i) The capital to his credit at the time of  his death and interest upon the time of his death at 6% per annum.

(ii) His proportionate share of Reserve.

(iii) His share of profit for the period based on the figure of the previous year,

(iv) Goodwill according to his share of profits to be calculated by taking twice the amount of the average profits of the last three years. The profits of the previous years were : 1997 : Rs. 7,800; 1998 : Rs. 9,000; 1999 : Rs. 9,600. 

The investments were sold for Rs. 16,200 and his executors were paid out. Pass the necessary journal entries and write the account of the executors of B
Ans =
Amount due to B’s executors Rs. 13,460.
Q11. Akhil, Nikhil and Sunil were partners sharing profits and losses equally. Following was their Balance Sheet as on 31st December, 1999 :


Liabilities



Rs.
Assets



      Rs.


Trade Creditors

       4,000
Buildings


20,000


General Reserve

       4,500
Plant and Machinery
 
  8,000



Capitals :




Stock



  3,500



Akhil

19,500


Debtors


  8,000



Nikhil

12,000


Cash at Bank


  8,500




Sunil

  8,000     39,500





  ----------



           ---------





    48,000




48,000

Sunil died on 1st May, 2000. The partnership deed provided that the executor of a deceased partner was entitled to : 

(i)
Balance of Partner’s Capital Account and his share of the accumulated reserves.

(ii) Share of goodwill calculated on the basis of three times the average profits of the last four years. Goodwill Account is not to be raised in the books.

(iii) Share of profit from the closure of the last accounting year till the date of death on the basis of the profit of the preceding completed year before death.

(iv) Interest on deceased’s capital @ 6% per annum.

Rs. 5,000 to be paid to deceased’s executor immediately and the balance to be kept in his loan account.

Profits and losses for the preceding years were :

1996 – Rs. 8,000 profit; 1997 – Rs. 10,000 loss; 1988 – Rs. 12,000 profit ; 1999- Rs. 18,000 profit. 

Pass the necessary journal entries and prepare Sunil’s Capital Account and Sunil’s Executor’s Account.

Ans =
Share of general reserve Rs. 1,500. Interest on capital Rs. 160. Share of goodwill Rs. 7,000. Share of profit Rs. 1,737. Balance of Sunil’s Capital Rs. 18,397.Balance of Sunil’s executor’s Account Rs. 13,660. 
Q12. A, B and C were partners in a firm sharing profits in proportion of their capitals. On 31.3.2006

their Balance Sheet was as follows :

Balance Sheet of A, B and C as on 31.3.2006

	  Liabilities
	Amount (Rs)
	          Assets
	 Amount (Rs)

	Creditors

Reserve

Capitals:

A                    40,000

B                    60,000

C                  1,00,000
	    16,000

    12,000

    2,00,000
	Building 

Machinery

Stock

Debtors

Cash
	 1,40,000

    60,000

      8,000

    12,000

      8,000


                                                                         2,28,000                                                            2,28,000

B died on 30.6.2006. Under the partnership agreement the executors of a deceased

partner were entitled to :

(i) Amount standing to the credit of partner’s capital account.

(ii) Interest on capital at 12% per annum.

(iii) Share of goodwill. The goodwill of the firm on B’s death was valued at Rs. 2,40,000.

(iv) Share of profit from the closing of last financial year to the date of death on the

basis of last year’s profit. Profit for the year ended 31.3.2006 was Rs. 15,000.

Prepare B’s Capital Account to be rendered to his executors      
Q13. The financial position of A, B and C sharing profits and losses in the ratio 2:2:1, as on 31st December 2002 is shown below. 

	Balance Sheet 

	(as on 31st December, 2001) 

	Liabilities 
	Amount 
	Assets 
	Amount 

	Capital A 
	25,000 
	Machinery 
	22,600 

	Capital B 
	25,000 
	Buildings 
	24,500 

	Capital C 
	15,000 
	Premises 
	14,500 

	Provident fund 
	8,250 
	Tools 
	6,200 

	Mrs. A's Loan 
	11,000 
	Office Equipment 
	10,400 

	Creditors 
	4,250 
	Cash at Bank 
	7,800 

	
	Petty Cash                                                    2,500

	88,500 
	88,500 


A died on 31st March, 2002. The following arrangements have been made for    settlement of his account with the legal representatives. 

Machinery revalued at 10% less and buildings appreciated by 20%. Office equipment have been sold to B for Rs.9,500. The firm earned a profit of Rs.21,000 during the year 2001. A's share of current year's profit is calculated on the assumption that the same profit will be earned uniformly during the year 2002 as well. There was a Joint Life Policy for Rs.40,000, with 25% surrender value. Insurance company paid Rs.45,000 in settlement with bonus. Rs.9,000 from Mr.A’s capital account is transferred to Mrs. A's loan amount to raise it to Rs.20,000. The balance amount in the capital account is settled immediately. 

Pass necessary journal entries, prepare ledger accounts and the revised balance sheet of the firm.            
Q14. Following is the Balance Sheet of the Pony, Sony and Bony as on March 31, 2003 .

Balance Sheet as at March 31,2003

	Liabilities 
	Amount (Rs.)
	Assets
	Amount (Rs.)

	Sundry Creditors 
	 4,600
	Land &Building
	23,400

	Reserve 
	 5,400
	Plant& Machinery
	13,000

	Capital Accounts:
	
	Stock
	  4,700

	Pony                         24,000
	
	Sundry Debtors
	  6,500`

	Sony                        12,000
	
	Cash at Bank
	  5,600

	Bony                         8,000
	44,000
	Cash in Hand
	     800

	  
	
	
	

	
	54,000
	
	 54,000


Pony died on June 30, 2003 .Under the terms of partnership the executors of a deceased partner were entitled to:

(a)    Amount standing to the credit of the Partner’s Capital Account.

(b)    Interest on Capital at 12% per annum.

(c)    Share of goodwill on the basis of four year’s purchase of three year’s average profits.

(d)    Share of Profit from the closing of the last financial year to the date of death on the basis of the 

         last year’s profit .Profit for the years 2001, 2002 and 2003 were respectively Rs. 8,000, Rs.12,000 

         and Rs. 7,000.

Record the necessary journal entries and draw up Pony’s account to be rendered to his executors, presuming that they are paid by raising bank loan. They shared profits in the ratio of their capital
Q15.
	Following is the Balance Sheet of Pawan, Raman and Saman who share profits in the ratio of 2:2:1 on 31st December,2002.

Liabilities

Rs

Assets

Rs

Bank Overdraft

7,000

Cash

11,000

Creditors

27,000

Investment

22,000

Bills Payable

14,000

Bills Receivable

4,000

Capital

Pawan      12,000

Raman     16,000

Saman     18,000

46,000

Debtors

21,000

Stock

13,000

Furniture

10,000

Machinery

15,000

Reserve Fund

2,000

96,000

96,000

On 1-7-2003, Raman died and his dependents are entitled to get the following:

· His share of Capital and Reserve Fund.



	· His share of profit up to the date of death calculated on the basis of average profits of last two years.

· His share of goodwill to be valued at three times the average profits of the last four years. Profits for the last four years 1999 Rs.3,600, 2000 Rs.2,400, 2001 Rs.2,800 and 2002 Rs.3,200.

· His share in the profits or losses arising out of revaluation of assets and liabilities are as under.

             Stock Rs.14,800, Investments Rs.13,900, Machinery Rs.12,700, Reserve for bad and doubtful   

             debts Rs.700.

Prepare Revaluation account, Partners Capital account and the Balance sheet of the surviving partners.
Q16. The Balance Sheet of X,Y,Z as on 31.12.2002 was as follows:    

Liabilities

Rs.

Assets

Rs.

Bill Payable 

 2,000

Cash at Bank

 5,800

Creditors 

 5,000

Bills Receivable

    800

General Reserve

 6,000

Stock

 9,000

Loans

 7,100

Sundry Debtors

16,000

Capital Accounts:

Furniture

  2,000

X                       22,750

Plant & Machinery

  6,500

Y                       15,250

Building

30,000

Z                       12,000

50,000

70,100

70,100

The profit sharing ratio was 3:2:1.Z died on 30th April, 2003, the partnership deed provides that:

(i) Goodwill is to be calculated on the basis of 3 years purchase of the four years average profits. The profits were: 2002=Rs.14,000, 2001=Rs.16,000, 2000=Rs.20,000, 1999=Rs.10,000.

   
(ii) The deceased partner to be given share of profit up to the date of death on the basis of  profits for previous year. 

(iii)The assets have been revalued as under:

Stock Rs. 10,000 , debtors Rs. 15,000; Furniture Rs. 1,500; Plant & Machinery Rs. 5,000: Building Rs.35,000. A bill for Rs. 600 was found worthless.                                                                                                                                                            

   
(iv) They also agreed that goodwill should not continue to appear in books.

               A sum of Rs. 12,900 was paid immediately to Z’s executors and the balance to be paid in two 

               equal annual installments together with interest at 10% on the  amount outstanding. 

                   Give journal entries and show Z’s executor’s account.       

Q17.P,Q and R shared profits in the ratio 3:2:3. R died on 30th Sept. 2007.

Balance sheet as on 30st Sept 2007 was as follows:-

liabilities

Rs

assets

Rs

Creditors

Capitals

P  20000

Q 20000

R  20000

40000

60000

building

R’s loan

stock

cash

80000

2000

16000

2000

100000

100000

1. Creditors are too written back by Rs 1000

2. Building to be appreciated by 10%

3. stock is under cast by Rs 1000

4. Goodwill is to be valued by capitalization of average profits of last year which was Rs 8000. Rate of return of other firms in the same industry was 10%

Prepare revaluation account and R’s capital amount and determine the amount to be transferred R’s executors account. 










Q18. On December 31, 2007, the Balance Sheet of Pinki, Qureshi and Rakesh showed as under :

Balance Sheet as on March 31, 2007

	Liabilities
	Rs
	Assets
	Rs

	Sundry Creditors

Reserve Fund

Capitals:

Pinki   15,000

Qureshi 10,000

Rakesh 10,000


	25,000

20,000

35,000

80,000
	Buildings

Investments

Debtors

Bills Receivables

Stock

Cash


	26,000

15,000

15,000

6,000

12,000

6,000

80,000

	The partnership deed provides that the profit be shared in the ratio of 2:1:1 and that in the event of death of a partner, his executors be entitled to be paid out :

(a) The capital of his credit at the date of last Balance Sheet.

(b) His proportion of reserves at the date of last Balance Sheet.

(c) His proportion of profits to the date of death based on the average profits of

the last three completed years, plus 10%, and

(d) By way of goodwill, his proportion of the total profits for the three preceding

years. The net profit for the last three years were :

(Rs.)

2005 16,000

2006 16,000

2007 15,400

Rakesh died on April 1, 2007. He had withdrawn Rs.5,000 to the date of his death. The investment were sold at par and R’s Executors were paid off. Prepare Rakesh’s Capital Account that of his executors.




Q19. You are given the Balance Sheet of A,B & C as on 31st December 1998 which is as follows :

Liabilities



Rs.
Assets




Rs.

Creditors



   3,000
Goodwill



   4,000

General Reserve


   3,000
Joint Life Policy

               2,000

Capital Accounts :



            (Sum assured Rs. 20,000)


A



   7,000
Plant and Machinery

               4,000

B



   7,000
Stock




   3,000


C



   7,000
Sundry Debtors


   5,500








Cash at Bank


               5,000






Cash in hand


               3,500

                                                
             27,000





 27,000

B died on 14th March, 1999. According to the Partnership deed, executors of

the decreased partner are entitled to :-


(a)
Balance of the Partner’s Capital A/c,




(b)
Interest on Capital @ 5% p.a.,

(c)
Share of goodwill on the basis of twice the average of the past three completed years’ profits, and

(a) Share of profit from the closure of the last accounting year till the date of death on the basis of the average of the three completed years’ profits before death. 

Profit for 1996, 1997 and 1998 were Rs. 8,500, Rs. 7,500, Rs. 8,000 resp. Show the working for deceased partners’ share of goodwill and profit till death.

Pass the necessary journal entries and prepare B’s capital amount to be rendered to his executors.

DISSOLUTION OF FIRM

Q1. Pass necessary journal entries in following cases, assuming firm is under realisation. 

(i) A bills receivable for Rs. 4,000 was discounted with bank, It was dishonored due to acceptor being declared insolvent. Thirty percent was received from his estate.

(ii) Creditors for Rs. 10,000 accepted stock Rs. 5,000 & cash Rs.4, 000 in full settlement of their claim.



Q2. What journal entries are made in the books of a firm at the time of 

dissolution :

(i)
When payment is made for an unrecorded liability.

(ii)
When a partner takes over the responsibility to pay off an unrecorded liability.


iii)
When an unrecorded asset is taken over by a partner.
Q3. What journal entries would you pass for the following transactions on the dissolution of a firm of partners A and B :



i)
Dissolution expenses amounted to Rs. 500.


ii)
An unrecorded asset realised Rs. 2,500.





iii)
Stock worth Rs. 2,000 already transferred Realisation Account was Taken over by a partner A.

iv)
Creditors, already transferred to Realisation Account were paid Rs. 3,000.

v) Profit on Realisation Rs. 4,000 is to be distribution between partners A and B in the ratio of 3:1.

Q4. What Journal entries would be passed for the following transactions  on the dissolution of a firm, after various assets (other than cash) and third party liabilities have been transferred to Realisation Account?

(a) Bank Loan Rs 12,000 is paid.

(b) Stock worth Rs 6,000 is taken over by partner B.

(c) Expenses on dissolution amounted to Rs 1,500 and were paid by partner A.

(d) A typewriter completely written off in the books of accounts was sold for Rs 200.

(e) Loss on Realisation Rs 14,000 was to be distributed between A and B in the ratio of 5:2.
Q5. What journal entries will be passed for the following transactions  on the dissolution of a firm : 


(i)
An recorded asset realises Rs. 1,300.


(ii)
Dissolution expenses amount to Rs. 700.

(iii)
Creditors, already transferred to Realisation Account, are discharged by paying Rs. 27,000.

(iv)
Stock worth Rs. 1,100, already transferred to Realisation Account, is taken over by a partner M.

(v) Profit of Realisation amounting to Rs. 6,000 is to be distributed between the partners M and N in the ratio of 7:5.

Q6. What Journal entries would you pass for the following transactions on the dissolution of a firm, after various assets (other than cash) and outside liabilities have been transferred to Realisation Account?


(i)
Bank Loan Rs 12,000 is paid.


(ii)
Stock worth Rs 6,000 is taken over by partner B.

(iii)
Partner A agrees to pay a creditor Rs. 3,000 due to him.

(iv)
An assets not appearing in the books of accounts realised Rs.700.

(vi) Profit on Realisation, Rs 18,000 is to be distributed between A and B in the ratio of 5:4.

Q7. Give the necessary journal entries in each of the following alternative cases :


(i)
Realisation expenses amounted to Rs. 500. 


(ii)
Realisation expenses amounted to Rs. 500 and the partner has to bear realization expenses.

(iii)   ’A’ One of the partners was to bear all the realization expenses for which he was given a commission of 2% of net cash realized from dissolution. Cash realized from assets was Rs.25,000 and cash paid for liabilities amounted to Rs. 5,000.  
Q8. ‘Z’ & ‘Y’ are two partners sharing profits in the ratio of 2:1. Give the journal entry at the time of dissolution in the following cases.

(i)
Deferred revenue advertising expenditure appeared at Rs.30,000.

(ii)
Profit & Loss a/c was appearing on the asset side of balance sheet at Rs. 60,000.


(iii)An unrecorded investment of Rs. 6,000.
Q9. Pass necessary Journal entries for the following transactions, at the time of dissolution of the firm :

(i) Realisation Expenses Rs. 3000 paid.

(ii) Realisation Expenses paid Rs. 2000, Mr. ‘X’ one of the partners has to bear these expenses.

(iii) ‘Y’, one of the partners, took over a machine for Rs. 20,000.

(iv) ‘Z’ one of the partners agreed to take over the creditor of Rs. 30,000 for Rs. 20,000.

(v) ‘A’ one of the partners has given loan to the firm of Rs. 10,000. It was paid back to him at the time

of dissolution.

(vi) Profit and Loss Account balance of Rs. 50,000 appeared on the assets side of the Balance Sheet.

Q10. Pass necessary journal entries to record the following at the time of dissolution of a partnership firm assuming that the Assets & third party liabilities have already been transferred to Realisation A/c :

(a) An unrecorded asset of Rs. 300 was taken over by 'A', one of the partners.

(b) Creditors were paid Rs. 14,000 in full settlement of their claims for Rs. 15,000.

(c) Sundry assets realised Rs. 1,95,000.

(d) 'B' (another partner) was to bear the expenses on dissolution, which amounted to Rs. 1,500/-.

(e) Value of Sundry liabilities including creditors at the time of dissolution was Rs. 1,90,000.

(f) 'A' takes over the loan payable to 'Mrs. A' Rs. 15,000.

(g) There was a contingent liability for Rs.10,000 for bill discounted. The bill was received from Mohan, who   

      became insolvent and only 40% was received from his official receiver.


Q11. A & B were partners in the ratio of 3:2. Due to heavy losses they decided to dissolve their business.

Give journal entries for each of the following transactions: (Assume that assets other than cash & Bank and External liabilities have been transferred to Realization Account)

(a) Furniture of the book value Rs 40,000 was realized at 85%.

(b) Stock appeared in the books at Rs 30,000,1/2 of which was taken over by B at 5% discount.

(c) The remaining stock was accepted by Bank against their loan of Rs 18,000.

(d) B agreed to pay off his wife’s loan of Rs 3,000 and took away unrecorded investments of Rs 2,000

at an agreed valuation of Rs 1,800.

(e) The general reserve appeared in the books at 7,200

(f) The loss on realization amounted to Rs 4,500.
Q12. A and B were partners from 1.1.1988 with capitals of Rs. 60,000 and Rs. 40,000 respectively. They 
shared profits in the ratio of 3:2. They carried on business for two years. In the first year ending on 31.12.1988 
they made a profit of Rs. 50,000 but in the second year ending on 31.12.1989, a loss of Rs. 20,000 was incurred. 
As the business was no longer profitable, they dissolved the firm on 31.12.1989. Creditors on that date were Rs. 
20,000. The partners withdrew for personal use Rs. 8,000 per partners per year. The assets realised Rs. 
1,00,000. The expenses of realisation were Rs.3,000.
Prepare Realisation Account, Partners Capital Accounts and Cash account.
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